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In a flexible exchange rate system, the demand for dollar assets will shift leftward
and the dollar depreciate if {a) the residents come Lo belicve that the dotlar will
depreciate. (b} U.S. interest rales fall. (c) U.S. real GDP increases. (d) U.S. real
GDP decreases.

The labot supply curve slopes upward because (a) households will use their time
efficiently and will have a stronger incentive Lo work when real wages rise. (b)
houscholds will use their time efficiently and will have a stronger incentive Lo
work when real wages fall. (c) firms will want more labor when real wages fall.
{c} leisure will become more expensive when the price level fall relative to the
nominal wages.

The undergound economy is all economic activity thal (a) produces intermediate
goods or services. {b) is not taxed. (¢} is legal or illegal in itsel{ but, is unreported.
() has negative social value.

Apgregale demand Tor veal GDP will rise when Lhe price level falls because of (a)
international substilution effect. (b} intertemporal substitution effect. (c) real
money balance offect. {d} Keynes affect.

The rake of time preference is {a) the Liming of invesiment decisions by firms. (b)
always the saric as the real interest rate. {¢) never the same as the real interest,
rate. (d) the real return on savings desired by households who save.
Neoclassical growth theory predicts thal {a) Lthe growih rates of all economies
will diverge. {b) the growth rates of all economies will converge. {c) conditional
convergence. (d} capital is constani. over Lime.

In tite new growth theory, an increase in the return lo knowledge {a) implies that,
the real interest rake is permanently less than the rate of the time prelerence. (b)
raises the real interest rale. {¢} raises the supply of knowledge. (<) implies that
the real interest rate is permanensly greater than Lhe rate of the Lime preference..
Oue policy that would increase the saving rate would be (a) reducing taxes on
the returns to saving. (b) raising laxes on the returns to investment, (¢} taxing
consumplion. (d) raising taxes on saving. .

Debt financing occurs when (a) the Treasury prints money rather Lhan sellbonds.
(b) houscholds and firms buy bonds {rom the Treasury. (¢) the central bank buys

bonds from the Treasury. (d) the central bank sells bonds to the Treasury.
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10, According Lo Roberl. Barro, deficits with debt, financing may result in {a) worse in-
llation than with money financing because of expeclations of monetary financing.
{h) worse crowding oul il Laxpayers cxpecl more debt, financing during a reces-
sion. (¢} no crowding oul, il taxpayers understand that increased current, debt, will
reguire inereascd future Laxes and they increase saving. (d) the economy growing
slower Lhan it would with moncy financing,

1. The real-world moncy mudtiplier will (all if {a) people increase their demand for
money. (b} the required reserve ratio of banks increases. (¢) people decide to hold
in currency part of any payments received. (d) people spend a smaller fraction
of their income on vocalion travel.

12, In the new.classical rational expeclations theory of the business cycle, an unan-
ticipated tncrease in aggregate demand (a) reduces real wage, increasing employ-
ment. and output. (b) increascs real wage, reducing employment and output. (c)
increases real wage, increasing employment and output. {d) reduces real wage,

reducing employmend, and oulpul..
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. Explain the following terms:

(a) Coase Theorein; (2%)

(b) rent seeking; (2%)

(c) network externalities; (2%)

(d) First Theorem of Welfare Economics; (2%)
{e) Benthamite welfare functions. (2%)

. A worker can produce x units of output at a cost of

2 . N . rar . :
¢(x)=% 7/ ,wherea > G, His reservation utility level is ¥ =5,6> 0.

(a). What is the optimal wage-labor incentive scheme s(x) for this
worker? (5%) (b) what would the worker be willing to pay to
rent the production technology? (%)

. Consider a sealed bid auction among n people for some good.

Let v, be the value of the good to person i. The good is sold to

the highest bidder at the second highest price bid. What is the
dominant strategy for person  to bid? (10%)

{a) True or false? Information goods like books and videos are
often rented or shared as well as purchased.
Rental or purchase can be more profitable
depends on how transaction costs compare with
production cosis, (5%)
(b) Suppose that the marginal cost of producing an extra video is
zero and the transaction cost of renting a video is zero.
Does a producer make more money by selling the video or by
renting it? (5%) -

. Suppose that the government wants to control the use of the

commons, what methods exist for achieving the efficient level of
use? (5%) Discuss the feasibility for each method in practice.
(3%)

. Suppose that we say that an allocation x is socially preferred to an.

allocation y only if everpone prefers x toy. What shortcoming
does this have as a rule for making social decisions? (10%)
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7. What is the dominant Nash equilibrium strategy for the repeated
prisoner’s dilemma when both players know that the game will
end after twenty repetitions? (5%) Will the strategy space of
each player be different from that of one time play? And why?
(5%)

8. Suppose that we have two firms that face a linear demand curve
p(Y)=a-bY and have constant marginal costs, c, for each firm.
Firm 1 acts as a Stackelberg leader. Solve for the Stackelberg
equilibrium output. (10%)

9, Suppose that a monopolist sells to two groups that have constant
elasticity demand curve, with elasticity ¢ ands,. The marginal
cost of production is constant at e, What price is charged to each

group? (10%)

10. (a) True or false? 1Inatwo good model if one good is an inferior
good the other good rust be a luxury good.
(5%)

(b) If a consumer has a utility function «(x,,x,)=x, - %2, what

fraction of her income will she spend on good 2? (5%)
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Answer the following five questions, equally weighted

1.{20%) Suppose that the two-dimensional vectors (X;, Y1), (Xo,Y2), ..., (X0, Ya)
form a random sample from a bivariate normal distribution for which the ineans
of X and Y are unknown but the variance of X and Y and the correlation be-
tween X and Y are known. Find the MLE's of the means.

Hint: Let X = (X, X4, ..., X;»)' be an m x | random vector. If the joint density
of X is in the form of

F(x) = (2m) 7P| Y exp(=1/2)(x — p) T (x — e,

1hen she we say that X follows a multivariate normal distribution, denoted as X ~
Ny (p, ), where p and ¥ are X's mean vector and variance-covariance matrix,

respectively.
2.(20%) Show that the MLE estimators in problem 1 are consistent.

3.(20%) In a normal random sample of size 30, we have X = 55 and 52 = 225.
Find the 95% confidence interval for mean u and variance o2

4.(20%) Let X and Y be two independent random variables with pdf’s
fx(z}=¢e™™ x>0

and
frlyy=e™ y>0

Define Z = X + Y. I'ind the pdf of Z.

5.(20%) Suppose that X is a Poisson random variable having pdf

-A\ZT
frle) =" Yoo,

!

Find the moment-generating function for X.
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